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A$=HDCP15.4%T X4
JEAL BIME4 OuUT IN GROSS HDCP  NET
* B = BT 38 39 77 | 106 = 66.4 BG

K EEE kil EE 40 40 80 | 109  69.1
*3 ARER FRAE 40 38 78 8.1 69.9
*4 AEAR HE 42 | 43 85 13.4 | 716
*5 % = 43 | 44 87 148 | 722
6 g = 44 | 45 89 15.0 | 74.0
7 HI —BR 42 43 85 | 10.6 | T4.4
8 Bl E— 37 | 4 78 3.3 747
9 BHE Rig 43 40 83 8.3 | T4
*10 it ok 40 | 43 83 8.1 74.9
11 HiF &4 41 43 84 9.0 75.0
12 BA AR 38 | 42 80 4.9 75.1
13 /NMUE E— 43 42 85 9.8 75.2
14 i 1EJR 41 | 40 81 5.6 75.4
*15  MIt WA 41 41 82 6.5 | 175.5
16 ZFIL TR 43 | 46 89 12.8 | 176.2
17 il EE 48 43 91 148 | 176.2
18 FHE R 45 | 43 88 11.5 | 76.5
19 o Bk 45 39 84 6.8 77.2
*20 k& kHE 45 | 45 90 2.8 | 77.2
21 B 'EA 45 47 92 145 7.5
22 U 42 | 45 87 8.8 78.2
23 RE R— 41 41 82 3.6 78.4
24 B R 43 | 46 89 9.9 | 79.1
*25 Hzm KRB 44 43 87 7.1 79.9
26 wl s 46 50 96 = 152  80.8
27 K & 46 45 91 9.9 81.1
28 it HEER 46 | 45 91 9.9 81.1
29 K E— 48 | 44 92 10.7  8l1.3
*30 TH — 46 | 48 94 | 119 821
31 RKE X 44 42 86 3.2 82.8
32 RE R 46 | 48 94 | 11.0  83.0
33 % R 43 44 87 3.7 83.3
34 BEE AH 50 | 48 98  14.7  83.3
*35 YN N 43 52 95 9.9 85.1
36 EAF B 47 | 53 100 | 13.6  86.4
37 i A 49 48 97 8.4 88.6
38 g & 43 | 59 102 11.2 | 90.8
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B#8 =HDCP15.5~ k&8 &EIZWPTHH P 2
JEAL BimE% OuUT 1IN GROSS HDCP NET w5
* &R BE EF 43 41 84 | 26.2  b57.8

KR WHE Bt 42 | 46 88 229  65.1
*3 =% FAl 40 | 43 83 17.5 = 65.5 BG
*4 F 2ET 42 | 42 84 | 18.3 | 65.7
*5 B & 47 40 87 | 18.2  68.8
6 B 47 | 42 89 | 200 | 69.0
7 HOo BE= 44 | 50 94 | 24.0  70.0
8 JREN R— 50 | 42 92 219 | T70.1
9 NH F— 46 | 44 90 | 19.2 | 70.8
*10 fH s 44 | 46 90 19.2  70.8
11 BEF AR 51 | 44 95 | 229 @ 721
12 BR EH 47 49 96 | 22.8 | 73.2
13 BT voF 46 | 44 90 | 16.1 = 73.9
14 mE RfE 45 | 46 91 16.8 = 74.2
*15  FEE MEH 45 47 92 | 17.7 | 74.3
16 BH Ex 48 | 44 92 | 17.0 | 75.0
17 Fi T 46 45 91 159 | 175.1
18 Mk = 49 = 45 94 | 18.8 | 75.2
19 # =5 48 | 46 94 | 18.6 | 75.4
*20 fEE EX 52 | 51 103 276 @ 175.4
21 mE 3CF 51 48 99 | 23.3 | T75.7
22 R EEE 47 | 41 88 | 12.0 = 76.0
23 &M HE 46 | 51 97 | 20.0  77.0
24 B &1 46 | 50 96 | 188 | 77.2
*25  HE BR 51 46 97 19.5  77.5
26 RN B— 48 | 52 100 | 22.4 | 77.6
27 B0 BEE 47 | 50 97 18.3 | 78.7
28 B E 56 | 52 108 | 28.6 | 79.4
29 R BAER 46 | 54 100 | 205 = 79.5
*30 JRA #BzZ 51 | 47 98 | 184 | T79.6
31 H BT 55 51 106 26.4  79.6
32 AT WWF 49 49 98 | 18.3 | T79.7
33 =& # 54 58 112 | 288  83.2
34 sk - 48 | 55 103 17.8  85.2
*35 R K 53 56 109 203  88.7
36 BH REE 55 | 57 112 201 91.9
37 R 8L 54 57 111 18.0 = 93.0
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